Cash flow forecasts
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1.
a)

b)

2.
(AO1) One way in which the cash position would change is that they would receive more cash inflows.
(AO2) A 50% off sale would attract more customers.
(AO3) This would lead to more cash flowing into the business.

Another way it could potentially affect the cash position is .........................................................
 ........................................................................................................................................................

This is because ...............................................................................................................................

........................................................................................................................................................

The impact of this would be ..........................................................................................................

........................................................................................................................................................

3.
........................................................................................................................................................

........................................................................................................................................................

........................................................................................................................................................

........................................................................................................................................................

........................................................................................................................................................
Extension:
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Business revenues, costs and profits
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Option 1: They should increase average prices by 10%.
The case study states that .......................................................................................................................................
.................................................................................................................................................................................
This is important because .......................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
The impact of this would be ....................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
However, .................................................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
Option 2: They should reduce the cost of ingredients by using a cheaper supplier.
The case study states that .......................................................................................................................................
.................................................................................................................................................................................
This is important because .......................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
The impact of this would be ....................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
However, .................................................................................................................................................................
.................................................................................................................................................................................
.................................................................................................................................................................................
Considering .............................................................................................................................................................
I believe the best option is .....................................................................................................................................
It’s better because ..................................................................................................................................................
However, to what extent this decision is valid depends upon .............................................................................
.................................................................................................................................................................................
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The cost of the contactless payment system is £4 500. Neil and Sue plan to borrow
the money from their bank. They will repay the loan over three years. Their monthly
repayment is £136.50.

(b) Calculate the total interest Neil and Sue will pay for this loan as a percentage of
the total amount borrowed. You are advised to show your workings.
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6 Neil and Sue have produced the following break even diagram, showing the costs
and revenue for their business.
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Figure 3

(a) Identify the total number of sales that Neil and Sue will need to break even.

(b) Identify the profit made by Meringue, by shading the correct region of the graph
in Figure 3.

(¢) State one benefit to Meringue of having a low break even level of output.
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(c) Analyse the impact on Meringue of using a bank loan to pay for the contactless
payment system.

DO NOT WRITE IN THIS AREA

(Total for Question 5 = 10 marks)
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Look at Figures 1 and 2, read the following extract carefully, then answer Questions 4, 5 and 6.
Write your answers in the spaces provided.

Neil and Sue Chatterton own and run Meringue
bakery and cafe. This is located close to a town
centre and has lots of passing trade. Meringue
produces high-quality bread and pastries
using traditional methods and high-quality
ingredients. Since opening 12 months ago
sales have grown strongly. At busy times a
queue builds up at the counter as customers
wait to pay. Online reviews indicate that this is
something that needs to improve.

VIUY SIHLNI LM LON Od|

Neil and Sue are now planning to make greater
use of technology to promote the business,

and to reduce the time that customers have to
wait to pay their bills. Figure 1

The website has been redesigned to allow customers to order their food before they
arrive at the cafe. A contactless payment system will allow customers to pay securely by
tapping their smart phones on a reader.

Figure 2 shows a TripAdvisor® review for Meringue:
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Figure 2 shows a TripAdvisor® review for Meringue: :-:I
v
-
“Very good but......” m
@@@®@O Reviewed 21 October 2013
borrowedtheboots Excellent food and very friendly staff. This was our first visit and we were made
derbyshire to feel very welcome. Our only complaint, and the reason why we didn’t award
Level 9 Contributor; 5 stars, is due to the time it took to pay for our food when we had finished.
B 57 reviews Long queue and only one till! Took us 20 minutes...
(@ 27 restaurant reviews More +
L) 46 helptul votes
Helpful? 1@ Thank borrowedtheboots ' Report 8
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Pearson Edexcel Level 1/Level 2 GCSE ( in Business — Sample Assessment Materials
Issue | —July 2016 © Pearson Education Limited 2016
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Neil and Sue are considering two options to reduce the amount they need to sell to
break even.

Option 1: Increasing average prices by 10%
Option 2: Reducing the cost of ingredients by using a cheaper supplier

(d) Justify which one of these two options Neil and Sue should choose.
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The table below shows the cash-flow forecast for a small business.

(c) Complete the table with the two missing figures.

Y34V SIHENEILIY

August (£) September (£)

Receipts 17 400 21770

Raw materials 8050 9340

Fixed costs 2120 2340

Total payments 10170

Net cash flow

Opening balance

Closing balance

V34V SIHE NI 3LIHM ION.0OQ
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End of chapter exercises

1 Give two benefits of cash flow forecasting for
a new, small firm.

2 Explain how the cash position of a clothes
shop would be affected by having a '50 per
cent off today!" sale.

3 Asmall hairdressing business decides to
expand by opening up a second salon on the
other side of town. Explain the probable effect
of this on the cash flow of the business.

When raising finar
to ask:

4 Explain in your own words why it is sensible to
forecast cash flows cautiously.

1 Howsecureis th

shares is kept v/
so it is 100 per
contrast, can be
the bank to d
24 hours.

2 How expensive
expensive to ol
because investo
against the risk

Practice questions

In July 2016 upmarket grocery chain Waitrose Nevertheless, for year-old Oppo (a manufacturer : .

£ . o . . . have invested.

i announced that it would start paying its smallest of expensive, sugar-free ice cream) the Waitrose

i suppliers within seven days. This would help 600 decision was extremely welcome. With sales : 3 Is enough being

: emall cunnliere epach af which celle a mayimim hanmina and cash flaw tinder atrain cneedier S S A





image4.png
<« C @ Hachette UK Ltd [GB] | https;//my.dynamic-learning.co.uk/ViewPage.aspx?tid=0e70ccb4-abc6-4639-817e-d6e00d579fbb&n=dps0080-008L.swf# aQ % e =]

I Apps @ 1258773IDVUR. @ 12656073 [E] Facebooklogo WH Football B Free Hotmal [ Suggested Sites 8, amozoncouk [ meinpsgessp-ng=.. [ Imported Ffrom[E & The Pirate Say-Po..  [) NewTab » | [ Other bookmarks
LU ® P PG ?
[ samin ub | Help

[© i\ Edexcel GCSE (5-1) Business, Second Edition

Practice questions

-
because investors w

against the risk of pc
have invested.

In July 2016 upmarket grocery chain Waitrose Nevertheless, for year-old Oppo [a manufacturer
announced that it would start paying its smallest of expensive, sugar-free ice cream) the Waitrose

: suppliers within seven days. This would help 600 decision was extremely welcome. With sales : 3 Is enough being rais:
: small suppliers, each of which sells a maximum booming and cash flow under strain, speedier : raise and expensive
: of £100,000 of goods a year to Waitrose. Waitrose payments from a major customer would be more 3 ise fust o bt

: claimed that it was part of its commitment to than welcome. : raise jus ‘“““5 ) &
i ethical trading. Sceptics pointed out that Tesco Total: 15 marks : Unfortunately, it is |
: did exactly the same, earlier in the year, and that . H problems in starting

: 600 lots of £100,000 represented no more than Define the term ‘cash flow'. m so0 it is wise to obta

i one per cent of Waitrose purchases. Outline one effect of speedier supplier 6 o th N

: payments on Waitrose's own cash flow : inance than seems
position. (2 : safety net.

3 Evaluate whether Waitrose was right :

to make this gesture to 600 of its H °Short- and
smallest suppliers. You should use : .
the information above as well as your : f|nance
knowledge of business. (12) ¢

When raising finance,
: about the timing of tl
9 finance needed for a fey
Ifabusinesswantstob
there is clearly a need
: Therefore, it would be
overdraft, which is a t
borrowing money in tt

W <« <> » [o |0
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1 (a) Which one of the following is an example of a variable cost?

Select one answer:
(1)

(| Rent

Raw materials

]
]

Insurance

O N W >

Advertising

(b) Which one of the following describes the role of an entrepreneur?

Select one answer:
(1)

[0 A Being employed by a large organisation

B A willingness to take risks
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(b) Using the information below calculate the total costs for the business. You are
advised to show your workings.
Number of units sold: 240
Fixed costs: £1 100
Variable costs per unit: 45 pence
9
(2) °
2
s 7 (o)
-
s
&
.
m
z
g
=
i
b
=)
m
>
£ .





